Efetue as conversdes pedidas abaixo:

a)
b)
c)
d)
e)
f)

g)

LISTA D2 2X2RCICI0S

123A616 — X1o0

569Cie — Xio

3B7Flie — Xuo

11111116 — Xio
1110001110002 — Xio
1011011011011 — Xio
1100111010112 — Xio
100101010111101111> — Xio
101011101010100012 — Xis
1000010100101002 — Xie
111101011010111; — Xie
10000000000102 — Xie
1FAA216 — X2

CACA61e — X2

1234516 — X2

79DE1s — X2

2365, — X2

5545¢ — Xie
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a) 74662

b) 22172

c) 243697

d) 1118481

e) 3640

f) 5851

g) 3307

h) 153071

i) 15D5116

j) 429416

k) 7AD71s

[) 100216

m) 111111010101000102
n) 11001010110010100110:
o) 111100111011110>
p) 11011100002

gq) 50916
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